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Turn off all cell phones. how all work to receive credit.
Atomic Masses: H 1.01, 016.00, K39.01, C 12.01, Zn 65.39,

1. (5Pts) 34.62 mL of 0.1510 M NaOH was needed to neutralize 50.0 mL of an H,SO, solution.
What is the concentration (molarity) of the original sulfuric acid solution?
ANaOH i) + H1S0, fig) —> AH:0W) + Maa SOy (o3)
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2. (5 Pts) What mass of K,COs is needed to prepare 200. mL of a solution having a potassium 10
concentration of 0.150 M?
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3. (5Pts) Zinc dissolves in hydrochloric acid to yield hydrogen gas:
Zn(s) + 2HCl(aq) — ZnCly(aq) + Hx(g)
What mass of hydrogen gas is produced when a 7.35 g chunk of zinc dwsolves in 500. mL of

1.200M HCI? __ Lo tin
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4. (5Pts) A 20.00 mL sample of 0.1015 M nitric acid is introduced into a flask, and water is added
until the volume of the solution reaches 250. mL. What is the concentration of nitric acid in the

final solution? M\ V, - M V1
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5. (5 Pts) What volume (mL) of a 0.3428 M HCl(aq) solution is requ1red to completely neutralize
23.55 mL of a 0.2350 M Ba(OH),(aq) solution?
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